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(Bl
() (a+b) =a’ +3a’h+3ab’ +b’

(2)a’ +b’ =(a+b)’ —3ab(a+b)
=(a+b)| (a+by —3ab |

=(a+b)(a’ +2ab+b> —3ab)
=(a+b)(a’ —ab+b*)

(B&] %
()(a—b) =a’ -3a’b+3ab’ -b’

(2)a’ =b’ =(a—b)’ +3ab(a—-b)

=(a-b)[(a=b)* +3ab

=(a—b)(a’ —2ab+b*+3ab)
=(a—b)(a’ +ab+b*)

(Bl&—=] " -0" i

(a*-b" =

2)a’ b’ =

(3)a' —b* =

@) a’-b’ =(a-b)a*+a’b+a’h’ +ab’ +b")
(5)a® —b° =(a—-b)(a’ +a'*b+a’h’ +a’b’ +ab* +b°)

(6)a’ =b" =(a—b)(a’ +a’b+a*b’ +a’b’ +a’b* +ab’ +b°)
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(Bl )

(S )

(D)x*—1=

2)x' 1=

(3)x' —1=

@Dx -1=(x-D*'+xX’+x" +x+1)
G)x* =1=(x=-D(" +x* +x +x> +x+1)

O)x" —1=(x-D(x*+x" +x* +x° +x +x+1)

a" +b" 5y iR
a"+b" PBEEn By

() a* +b° =

2)d’ +b° =

(3)a’ +b =

(S )

(Hx’ +1=

Q2)x’ +1=

QB)x' +1=

a’+b*+c —3abe 5y iR

a’+b’ +c’ —3abc

=(a+b) =3ab(a+b)+c’ —3abc

=(a+b) +c —=3ab(a+b+c)

=(a+b+c) =3(a+b)c(a+b+c)—-3ab(a+b+c)
=(a+b+c)[(a+b+c)2 —3ac—3bc—3ab]

=(a+b+c)a’>+b* +c* —ab—bc—ca)
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